
I Series OSS I 
Roll No. 
'UF1 ;f, I I -1 

Code No. 5 7/1 
Q5)s ;t, 

Candidates must write the Code on 
the title page of the answer-book. 

~anm ems em 3TR -gffi1d51 tn ~-~ 
~~~I 

• Please check that this question paper contains 11 printed pages. 

• Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

• Please check that this question paper contains 30 questions. 

• Please write down the Serial Number of the question before 
attempting it. 

• 15 minutes time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
student will read the question paper only and will not write any answer on 
the answer script during this period. 

• ~ ~ qi"{ # f% ~ ~-~ ~ ~ 'TO 11 ~ I 

• >rv-:r-~ ~ ~ QT'lf c€1" am ~ ~ ~ ~ cfir ~ 3m-3ff?!Cfll ~ lj&-"TO 1:11: fC;r@ 1 

• ~ iJll:q qi"{ B 1% ~ ~-~ ~ 30 >rv-1 ~ I 

• ~ ~ CfiT ~ f(l'l&"''l ~ m ~ ~~ ~ CfiT lfi'lricn a::rqvq 'ftoR:f 

• ~ ~-~ cif ~ ~ ~ 15 fir;rc ChT tl11li ~ 7fllT W I >rv-:r-~ ChT fr«RuT ~ ~ 

10.15 ~ ~ ~ I 10.15 ~ "# 10.30 ~ (fcf; ~ ~ ~-~ 'Cflt ~ 31R 
~ ~ ~ ~ -8; 3m-~ 1:11: cnW 31'11: ~ Wn¥t 

Time allowed : 3 hours 

57/1 

BIOLOGY (Theory) 

m ra$11~ (tlC\S{IFdCfl) 

1 

Maximum Marks: 70 

~3/rn: 70 

P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



General Instructions : 

(i) All questions are compulsory. 

(ii) This question paper consists of four Sections A, B, C and D. 
Section A contains 8 questions of one mark each, Section B is 
of 10 questions of two marks each, Section Cis of 9 questions 
of three marks each and Section J) is of 3 questions of five 
marks each. 

(iii) There is no ov.erall choice. However, an internal choice has been 
provided in one question of 2 marks, one question of 3 marks and 
all the three questions ·of 5 marks weightage. A student has to 
attempt only one of the alternatives in such questions. 

(iv) Wherever necessary, the diagrams drawn should be neat and 
properly labelled. 

R/41"4 ~ : 

(i) tNf JfR 31R<wf ~- I 

(ii) W J!R- T:ff if rm: ?ffU5 A, B, C Jik D ~- I &u:s A if 8 JfR ~- fir;ri/ ~ 

'fiT lF" Jicfi ff, ?9U5 B if 10 rrR ~· fir;ri/ ~ $ ~ 3fcfi ~~ &u:s C if 
9 JrR ~- fir;r# ~ $ rft.t Jicfi ~- awr &u:s D if 3 JrR ~ fir;r# ~ $ 
r#w W ff. I 

r!w citt 'WfJ{ r{ZR-~ raimaiffr ~J ~ m· t , tW: 'iff, 2 atcit ~ 

r!!fi JfR it, a afcif emf r!!fi JfR if 3ik s ant emf tNt rft;ff m if '4trrtt 

-:qq;[-~ fe:lf w: ~· f i#t !ffrif it FerUTFff cit ?nerM r!!fi ir ~ CfiT 6rff ~ 

ff I 

(ivJ ~ 'iff 3f/EH'4cti it, <fFfTTl: ~ emf ai& m!ll-pR ffYlT ~ ~ if •wiil%rt 
tit 
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SECTION A 
~A 

1. Mention the site where syngamy occurs 1n amphibians and reptiles 
respectively. 

Q%"tf~~H1 0'2IT "tt:e:l~cti .q ~-~ ~ ~ m-m ~ 1 

2. How is snow-blindness caused in humans ? 

liRCIT#~~~wmm~? 

3. Name one autosomal dominant and one autosomal recessive Mendelian 

1 

1 

disorder in humans. 1 

liRClT # ~-~ 3ift1ll*[-;fl ~ (ii.IT 3'1f(O•pJ~:~1 ~ q:st1lll ~ CfiT ;rn::r ~ I 

4. How is the action of exonuclease different from that of endonuclease ? 1 

~'i.-c{cR1l{:a~ qiT Cflf4 qwn tts1"1f¥~l{:a~ it CfJ4 ~ ~ fcilB WfiR ~ m-m ~ ? 

5. India has more than 50,000 strains of rice. Mention the level of 
biodiversity it represents. 1 

mur # ~ it so,ooo ~ .qr :m-~ ~ ~ ~ ~ 1 -Q:m iRr fcilB ~ <t't 
l}q_~ CfiT ~ w ? 

6. Mention the information that the health workers derive by measuring 

BOD of a water body. 1 

fr.nm ~ m it BOD it ~ ~ ~ <Wrm ~ ~ ~ ~ M t ~ 
CfliT ~ ? 

7. Name the enzyme involved in the continuous replication of DNA 

strand. Mention the polarity of the template strand. 1 

DNA ~ cti ~ Slf\i!flfct # Rftff ~ Clli ;rn::r ~ I ~ (~) ~ 
q,'t 1fffiT ~ 1 

8. Offsprings derived by- asexual reproduction are called clones. Justify 

giving two reasons. 

~ \ifrR ~ ~ ~ ~ ~ ~ 'liffiT ~ 1 -Q:m ~ ~ ~. ~ ~ ~ 
qjRUT ~ 

1 
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SECTION B 
l31l:! B 

9. Mention the role of ribosomes in peptide-bond formation. How does 
ATP facilitate it ? 2 

~ ~ t ffi ~ <1$'41tilx:?i ~ ~ ~ l ~ ATP t"H '§114'1~t1 <li\ffi 

t ? 

10. How do copper and hormone releasing IUDs act as contraceptives ? 
Explain. 2 

mJl CJm ~ fc11fli11l IUDs (~ ~) ~ t ~ ~ ~ WfiR CfiT1.f 

~ % ? fP""I~I$l{ I 

11. If you squeeze a seed of orange you might observe many embryos of 
different sizes. How is it possible ? Explain. 2 
<m; arrcr ml1: t ~ CfiT ~ -at Wi ~ t f<ii ~ 3R17T-3R17T a:w.tiR t ~ ~ 
li?l ~ ~ I ltm ~ ~ ~ ? Bl""l~l$({ I 

12. A recombinant DNA is formed when sticky ends of vector DNA and 
foreign DNA join. Explain how the sticky ends are formed and get 
joined. 2 

\if<ii ~ (~) DNA t ~ fut M fcN11ffi~ DNA t ~ ¥ ~ %, m 
~ g'"i4f>ilrfl DNA~ t I ir ~ fut ~ ~ % ~2fT ~ WfiR ¥, ~ %, 
ft!l~l$10{ I 

13. (i) Mention the number of primers required in each cycle of 
polymerase chain reaction (PCR). Write the role of primers and 
DNA polymerase in PCR. 

(ii) Give the characteristic feature and source organism of the DNA 
polymerase used in PCR. 2 

(i) 4it1ltft~ ~ ~ (PCR) t ~ ~ -q ~ 34~11""1cbl (~) ~ 
3'11Cl!?~&lC11 m-ffi %, ~ ~ I PCR -q 34~11""1cbl CJm DNA 4i~i'II•Ri>l1 ~ 

~~I 

(ii) PCR ~ $RlL11<1 ~ ~ ~ DNA 4ict"II•Ri>l1 q)f ~ ~ ~ ~ 

~ ~ ~ qJf Oil'll ~ I 
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14. Define the term 'health'. Mention any two ways of maintaining it. 2 

OR 

WThy does a doctor administer tetanus antitoxin and not a tetanus 
vaccine to a child injured in a roadside accident with a bleeding 
wound ? Explain. 2 

·~· ~ ctt ~ ~ 1 ~~~in m -a ~ ~ 1 

a:r~ 

"llfG ~ ~ ~ ~ -q ~ "&]" ~ ~ 3W; ~ mq it "{iji Cffl wr mm t 
nT ~ ~ ~ ~fc:zlf'RH ("5\fu~) ~ ~ ~ fCfi fc:t;ro ~ I 'Q:m q:ql, 

15. Giving two reasonS; explain why there is more species biodiversity in 
tropical latitudes than in temperate ones. 2 

~ crnur ~ ~ f1JOJ$1$t~. reo ~nffiwt ~ q;r ~ 3WtctR:ai~ ~ -q fl'l'hn;:ll 
(~) ~-mmrr a:rr~.ron ~ ~ ~ ~ 1 

16. Name an opioid drug and its source plant. How does the drug affect 
the human body ? 2 

fcliffi ~ ~~ ~ ctiT 3ffi m ~ 1lliT q;r ~ ~ 1 "lfQ ~ ~ 
-ufu: \R ~ WiiR JMTq ~ ~ ? 

17. Mention the major cause of air pollution in metro cities. Write any 

three ways by which it can be reduced. 2 

q~j1li~· -q errs ~ qjT ~ crnur cp;rr t? ~ ~ ~ t ~ (fA 311f11 ~ 1 

18. How did Eli· Lilly synthesise the human insulin ? Mention one 

difference between this insulin and the one produced by the human 

pancreas. 

l!:ffi R1ffi ~ "tfR"Cf ~ qjT "'ii~e!~:~ot ~ m ~ ~ 1 n:r ~ ~ ~ 
3'1l~l~lll -q ~ ~ -ij_ ~ ~ ~ I 

2 
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SECTION C 
~c 

19. (i) Write the characteristic features of anther, pollen and stigma of 
wind pollinated flowers. 

(ii) How do flowers reward their insect pollinators ? Explain. 3 

(i) ~-<mf1m ~ &;- Y{lilifll~l, lnJlT (l1lT qf~q;l~ ttf fqf~IE!/:11~ ~ I 

(ii) ~ ~ <fitz q{lliOICfl'\if~ ~~if~ wm: ~ ~% ? fl4$11$'1; 

20. (i) Why are grasshopper and Drosophila said to show male 
heterogamity ? Explain. 

(ii) Explain female heterogamity with the help of an example. 3 

(i) Rif ~ iJ~:ft/%&1 ~ ";f\ ft:llill:!~fl1CfiHI ~ cnB ~ ~ ~ W ? '84~1~11; I 

21. In a series of experiments with Streptococcus and mice F. Griffith 
concluded that R-strain bacteria had been transformed. Explain. 3 

¥~<.1rilw;fl ~m ~ tR ~ ~ ~i8C11cii<& ~ ~ :mi:lR tR ~. nmt2f ~ ~ 
~ ~ ~ R-~ ~ ~Cf21Rlll ~qj("1f{l:"1 it rn!, ~ I ~ ~ ~311, fl4~1$11; I 

22. (a) How does the Hardy- Weinberg's expression cp2 + 2pq + q2 = 1) 
explain that genetic equilibrium is maintained in a population ? 

(b) List any two factors that can disturb the genetic equilibrium. 3 

(aJ ~-~ 3lM6!1Ril (p2 + 2pq + q2 = lJ -fr ~ m JJqiT\ ~ ~ t 
fcfi ~ ~ 'lfuiT 31 H c:i r~ 1 ct1 ~ ar-n- wnr ~ ? 

..:> 

23. Mention the name of the causal organism, symptoms and the mode of 

57/1 

transmission of the disease Amoebiasis. 3 

~lilfaw:f+~fl Wl' ~ ~ ll'fi'"i&J ~ ~ 1fif, irT ~ wzur ff2IT ~ ~ FcW:r &;- ~ 
if~ I 
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24. (i) Mention the property that enables the explants to regenerate into 

a new plant. 

(ii) A banana herb is virus-infected. Describe the method that will 

help m obtaining healthy banana plants from this diseased 

plant. 

<i> ~ ~ ~ t m:m 114ft:~t?i q;) ~ ~ tf1iT ~ j+i+1 qi\ -m ~ 
~ )fT1:{f -mm t ? 

(ii) ~ ~ ~ ~-thflf'ict it ~ t I ~ ~•i!i«l -qtit -a ~ ~ tf1iT 
~ mm ~ )fT1:{f ~ ~ ~ ~. quf;r ~ 1 

25. Mention the product and its use produced by each of the microbes 

3 

listed below : 3 

57/1 

(i) Streptococcus 

(ii) Lactobacillus 

(iii) Saccharomyces cerevisiae 

~ ~i!lqJ(l ~ -tr ~ ~ it mu :m ~ )fT1:{f -mm t, ~ -;n-q am: ~ 
~~: 
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26. (i} Name the organism in which the vector shown is inserted to get 

the copies of the desired gene . 

. 
. (ii) Mention the area labelled in the vector responsible for controlling 

.;-_ the copy number of the inserted gene. 

57/1 

(iii) Name nnd explain the role of a selectable marker in the veclor 

shown. 

EcoR I 

Pst I llamH I 

Pvu II 

OR 

Name the - insect pest that is killed by the products of cry!Ac 

gene. Explain how the gene makes the plant resistant to the 

insect pest. 

8 

3 
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(i) 31l ~ CfiT -;rrq ~ ~ ~ ~ ~ 7J7.IT ~ :sR1' ~ ~ t 
OTf4i ~ ~ CiJ1 ~ )lTC{{ qft ~ ~ I 

(ii) ~ ~ it 1ftn1: "5lfcnr ~ ~ ~ Ch1 ~ Ch1 ~ CfiT ~ ~ Cffi1T 

it ~14if&ld &tf ~, ~ ~ ~, ~ I 

(iii) ~ ~ ~ -q q{Ot41Hl ~ CfiT -;rrq ~ (i1'.lT ~ ~ 

'fili $11$ Q; I 

EcoR I Cla I Hind III 

Pst I 

Pvu II 

3"'fi m ~ CfiT -;rrq ~it cry!Ac ~it ~it 11{ ~ ~ I ~~it 

tfim qfR;- ~ it ~ fctlr ~ ~ GR ~ t 'fili$11$10!: I 

27. How do orgamsms like fungi, zooplanktons and bears overcome the 

temporary short-lived climatic stressful conditions ? Explain. 3 

~ ~ ~ fcfi Cfi"CfCfi, sufUt~qq; (fill ~ 3llR: ~ 3'1MC61fC1<;fl '31<1qts ~ 
cm:rr q n:r~ ft14'i it ~ m 1lffi ~ ? w'l $11 ~ cy: 1 
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SECTIOND 
l'!J'IJS D 

28. Describe in sequence the events that lead to the development of a 
3-celled pollen grain from microspore mother cell in angiosperms. 5 

OR 

(a) Give a schematic representation showing the events of 
spermatogenesis in human male. 

(b) Describe the structure of a human spenn. 

~rqo~·'if~4l· 1l ~ 1ffiJ <ilf~ICill it ~ 3-Cblf~lctl4 '!RrT qi1JJ it ~ ctt fGm 1l 
~-~~~t ~~quf;f~ 

(a) ~ ~ 1l I{!HiiUJ'Jl'""l'"'l q.1 ~an ~ ~ ~ ~ 1l ~ 

(b) ~ WfiT1lJ ctl ~ ChT 'CfU'R ~ I 

3+2 

29. (a) State the law of independent assortment. 

57/1 

(b) Using Punnett Square demonstrate the law of independent 
assortment m a dihybrid cross involving two heterozygous 
parents. 1+4 

OR 

How did Alfred Hershey and Martha Chase arnve at the conclusion 
that DNA is the genetic material ? 5 

(a) ~ 3i46f~'"1 qJT f.:rrl1 <:Fn t, ~ 

(b) 'eJ fCJ~4'JHl;ffi ~ it ~ ~ ~ ~ ~ m ~ ,j:jq&![~H ChT f.:l<r4' 

~ 91\ffi" t ~ * <fiT ID\T ~ 

~ ~ w.rr mm ~ ~ m ~ ~ "n: ~ fch DNA~ 3llj~f:?l<fi 'CJGI2f 
~ ? 

10 
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30. (a) Why are herbivores considered similar to predators In the 
ecological context ? Explain. 

(b) Differentiate between the following interspecific interactions in a 
population : 

(i) Mutualism and Competition 

(ii) Commensalism and Amensalism 

OR 

(a) Trace the succession of plants on a dry bare rock. 

(b) How does phosphorus cycle differ from carbon cycle ? 

(b) fcfim w::Jfu: ~ ~ f1+=0if&~f-l9d ~i"HI"11d'l'4 YIH4ftq;-fR:i1:n3ft ~ ~ a:frn: 

~ 

Ci) tt~iqq;1fto1 (i2!T ~ 

(ii) ~ (f2(1 ~ 

(a) ~1 ~ ;:rr.l ~ 'Q"{ ~ Cf>T 3'fjd)qOI 1%B" ~ ~ ~ ? quj;r ~ I 

(b) ~ -:rrni qft ~ 'ij !'flte:h'IH4 ~ 1%B" ~ ~ ~ ~ ? 
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